- Note:  Jaly tum back 1o page number if you have difficulty

QL Simp]ify the following éxpieésions: .
(a) 8p+3¢—5p+1lg = (b) 6x—3y-3x+7y
e - 2 9\2
(© 16mn+4a | @ (ﬁx3) L (Sazbz)
© 6m2n + 3mn? + S (&) ab—3d®+5ba—ab
(B) Tx+ (- 5x) + 2x N N ORER
(J) Sxx3xx4x ' k) Gmx3m) +m

o) 42a+(—6a) " (m) 1547 +3a%

(n) 5x0x3x5 (o) 63a2b +3ab

Expand and simplify: , ' | ' :

(2) 4(x+72) + 6x 0) 5(@+3)+4a - () 2m+3@m+1)

(@) 95+32b+2) () H5-4x)+10x (D) 6+ 2(3x+4)
® 5+&-1) () 8y +3(2y +2) (i). Gn -+ 3(m — 2)

Factorise the following expressions by taking out the factor cormnon
to both terms: e '

@ 3x+9 ) 5-15% . @ab+u

(d) 8 —14y. (&) 4m—12 (f) 18n-+24

() 12x-18 () 6a-8 (i) Sab-20ac
Simplify the following fractions: _

: 5x 3x 2a a I3m 2m 2m  fm
a) ——— b) —— c) ——— {d) —+—
W7 Oty Oy @y

b 3b ' 3a  Sa. . 3m 3m

Oty 93Ts @ty Oy

simplify these piodﬁcts:

2% A n 5
(o) I T —
(e) P ) Paa.
Simplify these divisions:
a_ a . b b
a) romome- D) —+— C : ..
()'52 ()6 2 ‘ A4
' 2a a X a - ' 3 x
(&) —+—  (H —=— . : ) e
33 y b ' @ S5x - 2

Expand these bisomial products; . :
{a) & +2)x+3) () (a+3)B +5 (©) (n+ D(m+96)

@ &+NDO-2) & @+hHm+1) @ @+5)E-1
® (@+3)@-3) 0 Qx+NE=1) () (m+Rxn=3)
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Ql (@) 3p + 14g ®) 3r-9

) 255"
- O 1ot +3mn*  (g) Sab— 342 (k) 4x. S G 605
(&) i5m W - (m) 348 S (m) 15 {o) 21a
Q2. (a) 10x+8 ) 9a+15 ©) 14m+3 @) 156+6 (&) 4526z ;

D) Gx+ 14 (@ ld+x ) 4y+6 @ Sin-6 ..
Q. (@ 3 +3) (B) (1 ~3%) © apw2) @ 24 -7y _(e) 4m-3) 1
() 6(3m+4) {® 6(2~r 3) W 2Gg-4y @ Sap- 4c) |

' X 3 8an 5. x Ta
Q4. (@ 3 ® (c) | @ 5 @ 2 @ 5 () (h)
4 8 1
il K — A - - (g 1
Qs (8 2 '(b) ” (c ) (@ T @ 3 (t). 2 @1 ®
2 Y b 4x2_ 6"
Q6. (@ i () 5 ) 3 @ e @ — | 0 o © — P
Q7. (@ X +5x+6  (b) ab+5z+3b+ 15 (C} M+ Tmw6 - (d) Xy 2x+7y 14
@) Pk 2mal . () ghega5h- 5 (g) a¥~9 - . (h)- zx1+7x 9 .

(D mn-— 3m+8n 24

©4n (@3

_ wr_ezss




